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Py(Mna) D d h. B < %
30 23 45 20,36p. A E o
Dy 10 0.6 30 23 3,2 17,08p. g > E 2
1,6; 2,5; 4,0; 6,3; 34 24 4.5 24,34p. T s —

10,0 34 24 3,2 19.91p. O 5

Py(Mma) D d h. B < ;.:';
35 28 4,5 23,00p. o £ o
Dy 15 . 35 28 3.2 18,96p. 22 2 s
1,6; 2,5; 4.,0; 6,3; 39 29 4.5 27,60p. T s N

10,0; 16,0; 20,0 35 29 3,2 18,96p. o s

Py(Mna) D d h. B 5 %
46 35 45 32,17p. A E o
Dy 20 0.6 46 35 32 25,48p. g & E Z
1,6; 2,5; 4,0; 6,3; 50 35 4.5 38,14p. T s N

10,0; 16,0; 20,0 50 35 32 29,72p. O 3

Py(Mma) D d h. B < ;.:';
53 43 4,5 36,74p. o £ o
Dy 25 0.6 53 43 32 28,73p. g & E Z
1,6; 2,5; 4,0; 6,3; 57 43 4.5 43,58p. = S @

10,05 16,0; 20,0 57 43 3,2 33,59p. o 5

Py(Mna) D d h. y 132 < 5
63 51 45 5,82p. o £ 5
Dy 32 0.6 63 51 32 35,18p. g & E Z
1,6; 2,5; 4,0; 6,3; 65 51 4.5 49,80p. T s <

10,0; 16,0; 20,0 65 51 3,2 38,01p. O 3

Py(Mma) D d h. B < ;.:';
70 61 4,5 46,30p. o £ s
Dy 40 0.6 70 61 32 35,53p. g & E Z
1,6; 2,5; 4,0; 6,3; 75 61 4.5 57,57p. = S 0

10,0; 16,0; 20,0 75 61 32 43,54p. o 5

Py(Mna) D d h. B < %
83 73 45 63,79p. A E o
Dy 50 0.6 83 73 3.2 47,96p. 22 2 Z
1,6; 2,5; 4,0; 6,3; 87 74 4.5 74,36p. T s o

10,0 16,05 20,0 87 74 32 55,48p. o 5

Py(Mma) D d h. B < ;.:';
0.6 103 94 4,5 74,42p. o = E 2
Dy 65 ’ 103 94 32 55,52p. g & 5
1.6:2,5: 4,0; 6.3; 109 94 4,5 94,19p. = g *

10,05 16,0; 20,0 109 94 3,2 69,58p. o 5

Py(Mna) D d h. B < %
117 106 45 93,06p. A E o
Dy 80 0.6 117 106 32 68,77p. g & E z
1,6; 2,5; 4,0; 6,3; 120 106 4.5 104,11p. T s >

10,0; 16,0; 20,0 120 106 32 76,63p. O s

Py(Mma) D d h. B < ;.:';
0.6 143 129 45 124,84p. A E 2
Dy 100 ’ 143 129 32 91,38p. g & s
1,6; 2,5; 4,0; 6,3; 149 129 4.5 152,07p. = g —

10,05 16,0; 20,0 149 129 32 110,74p. O 5

Py(Mna) D d h. B < %
0.6 169 155 45 148,28p. A § z
Dy 125 ’ 169 155 32 108,04p. g & z o
1,6; 2,5; 4,0; 6,3; 175 155 4.5 180,36p. = g —

10,0; 16,0; 20,0 175 155 3,2 130,86p. o 5

Py(Mma) D d h. B < ;,%
0.6 196 183 4,5 167,41p. A E 2
Dy 150 ’ 196 183 32 121,65p. g & -
1.6:2,5: 4,0; 6.3; 203 183 4,5 210,83p. T g —

10,05 16,0; 20,0 203 183 32 152,52p. O 5

Py(Mna) D d h. B ' =




0.6 226 213 45 193,53p. & £z
Dy 175 ’ 226 213 32 140,22p. s £ -
6254065 | 233 213 45 | 24347p. =i S
10,0; 16,05 20,0 233 213 32 175,73p. O 5
Py(Mma) D d h. B < é
0.6 251 239 45 208,34p. . =z
Dy 200 ’ 251 239 3,2 150,75p. m g 2 <
16,25, 4.0, 6.3, 259 239 45 271,75p. =i 5 Q
10,0; 16,0; 20,0 259 239 3,2 195,85p. O 5
Py(Mna) D d h. B < %
0.6 276 266 45 205,96p. d o c z
Dy 225 ’ 276 266 3,2 149,06p. oS £
162,540, 6.3 286 266 45 293,31p. =ha ERS
10,0: 16,0; 20,0 286 266 32 211,18p. O 3
Py(Mma) D d h. B < é
0.6 306 292 45 271,79p. A =z
Dy 250 ’ 306 292 3,2 195,87p. m g 2 S
16,25, 4.0, 6.3, 312 292 45 329 42p. =i 58
10,0; 16,0; 20,0 312 292 3,2 236,85p. O 5
Py(Mma) D d h. B - 2
0.6 356 343 45 387,25p. d c z
Dy 300 ’ 356 343 32 277,98p. s T o
1625, 4.0: 6.3 363 343 45 465 48p. =ha z o
100; 16,0 363 343 32 333,61p. O 5
Py(Mma) D d h. B < é
0.6 407 395 45 432,78p. . =z
Dy 350 ’ 407 395 3,2 310,35p. m g 2 A
1,6; 2,5; 4,0; 6,3; 421 395 4.5 612,95p. E - ER
10,0; 16,0 421 395 3,2 438,48p. O 5
Py(Ma) D d h. B - 2
0.6 457 447 45 460,88p. d =z
Dy 400 ’ 457 447 32 330,34p. el £
165 2.5 40; 6.3 473 447 45 692, 16p. =ha <
10.0 473 447 32 494,80p. O 3
Py(Mna) D d h. B < ;.:';
0.6 507 497 45 512,17p. A =z
Dy 450 ’ 507 497 32 366,81p. g 2 % <
2540 522 497 45 752,08p. = S <
e 522 497 32 537.41p. o s
Py(Ma) D d h. B - 2
0.6 557 549 45 530,83p. d c z
Dy 500 ’ 557 549 32 380,08p. e % %
o 575 549 45 847,53p. = 5
R 575 549 32 605,29p. O 5
Py(Mna) D d h. B o =
0.6 657 649 45 627,19p. 5 ©
’ 657 649 32 448,60p. < 5
Dy 600 675 649 45 999,85p. " = 2
675 649 32 713,60p. - =
1,6;2,5; 4,0, 6,3 = =
675 649 45 999,85p. = £
675 649 32 713,60p. S
Py(Mma) D d h. B - 2
0.6 762 736 45 1132,37p. ré c z
Dy 700 ’ 762 736 32 807,84p. e % .
o 777 751 45 | 1491,18p. = 5=
e 777 751 32 1 063,00p. O 5
Py(Mra) D d h. B . =
0.6 867 841 45 129231p. 5 0
’ 867 841 32 921,57p. < 5
Dy 800 882 851 4,5 1.700,08p. " = 2
882 851 3.2 1211,54p. - =
1,6;2,5; 4,0; 6,3 E g
877 851 45 1 563,38p. = £
877 851 32 1 114,34p. S
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